Honam Mathematical J. **37** (2015), No. 1, pp. 29–40 http://dx.doi.org/10.5831/HMJ.2015.37.1.29

$\Omega\mbox{-}{\mbox{INTERVAL-VALUED FUZZY SUBSEMIGROUPS IN A}$ SEMIGROUP

JEONG GON LEE, KUL HUR AND PYUNG KI LIM*

Abstract. By using a set Ω , we introduce the concept of Ω -fuzzy subsemigroups and study some of it's properties. Also, we show that the homomorphic images and preimages of Ω -fuzzy subsemigroups become Ω -fuzzy subsemigroups.

1. Introduction

In 1975, Zadeh [12] suggested the notion of interval-valued fuzzy sets as generalization of fuzzy sets introduced by himself [11]. After that time, Biswas [1] applied it to group theory, and Gorzalczany [4] introduced a method of inference in approximate reasoning by using intervalvalued fuzzy sets. Moreover, Mondal and Samanta [10] introduced the concept of interval-valued fuzzy topology and investigate some of it's properties. Recently, Hur et al. [6] studies interval-valued fuzzy relations in the sense of a lattice theory. Also, Choi et al. [3] introduced the concept of interval-valued smooth topological spaces and investigated some of it's properties. On the other hand, Cheong and Hur [2], and Lee et al. [9] studied interval-valued fuzzy ideals/bi-ideals in a semigroup. Kang [7], Kang and Hur [8] applied the notion of interval-valued fuzzy sets to algebra. In this paper, by using a set Ω , we introduce the concept of Ω -fuzzy subsemigroups and study some of it's properties. Also, we state how the homomorphic images and preimages of Ω -fuzzy subsemigroups become Ω -fuzzy subsemigroups.

Received November 7, 2014. Accepted December 11, 2014.

²⁰¹⁰ Mathematics Subject Classification: 20M15, 03F55, 08A72.

Key words and phrases: Ω -fuzzy set, Ω -interval-valued fuzzy subsemigroup. *Corresponding Author.

2. Preliminaries

In this section, we list some concepts and results related to intervalvalued fuzzy set theory and needed in next sections.

Let D(I) be the set of all closed subintervals of the unit interval [0, 1]. The elements of D(I) are generally denoted by capital letters M, N, \cdots , and note that $M = [M^L, M^U]$, where M^L and M^U are the lower and the upper end points respectively. Especially, we denoted $\mathbf{0} = [0, 0], \mathbf{1} = [1, 1]$, and $\mathbf{a} = [a, a]$ for every $a \in (0, 1)$, We also note that

(i) $(\forall M, N \in D(I))$ $(M = N \Leftrightarrow M^L = N^L, M^U = N^U),$

(ii) $(\forall M, N \in D(I))$ $(M \le N \Leftrightarrow M^L \le N^L, M^U \le N^U).$

For every $M \in D(I)$, the *complement* of M, denoted by M^C , is defined by $M^C = 1 - M = [1 - M^U, 1 - M^L]$ (See[10]).

Definition 2.1 [10,12]. A mapping $A: X \to D(I)$ is called an *interval-valued fuzzy set*(in short, *IVFS*) in X, denoted by $A = [A^L, A^U]$, if $A^L, A^L \in I^X$ such that $A^L \leq A^U$, i.e., $A^L(x) \leq A^U(x)$ for each $x \in X$, where $A^L(x)$ [resp $A^U(x)$] is called the *lower* [resp *upper*] *end point of* x to A. For any $[a, b] \in D(I)$, the interval-valued fuzzy set A in X defined by $A(x) = [A^L(x), A^U(x)] = [a, b]$ for each $x \in X$ is denoted by $[\widetilde{a}, b]$ and if a = b, then the IVFS $[\widetilde{a}, b]$ is denoted by simply \widetilde{a} . In particular, $\widetilde{0}$ and $\widetilde{1}$ denote the *interval-valued fuzzy empty set* and the *interval-valued fuzzy whole set* in X, respectively.

We will denote the set of all IVFSs in X as $D(I)^X$. It is clear that set $A = [A, A] \in D(I)^X$ for each $A \in I^X$.

Definition 2.2 [10]. Let $A, B \in D(I)^X$ and let $\{A_{\alpha}\}_{\alpha \in \Gamma} \subset D(I)^X$. Then

(i) $A \subset B$ iff $A^{L} \leq B^{L}$ and $A^{U} \leq B^{U}$. (ii) A = B iff $A \subset B$ and $B \subset A$. (iii) $A^{C} = [1 - A^{U}, 1 - A^{L}]$. (iv) $A \cup B = [A^{L} \vee B^{L}, A^{U} \vee B^{U}]$. (iv)' $\bigcup_{\alpha \in \Gamma} A_{\alpha} = [\bigvee_{\alpha \in \Gamma} A_{\alpha}^{L}, \bigvee_{\alpha \in \Gamma} A_{\alpha}^{U}]$. (v) $A \cap B = [A^{L} \wedge B^{L}, A^{U} \wedge B^{U}]$. (v)' $\bigcap_{\alpha \in \Gamma} A_{\alpha} = [\bigwedge_{\alpha \in \Gamma} A_{\alpha}^{L}, \bigwedge_{\alpha \in \Gamma} A_{\alpha}^{U}]$.

Result 2.A [10, Theorem 1]. Let $A, B, C \in D(I)^X$ and let $\{A_{\alpha}\}_{\alpha \in \Gamma} \subset D(I)^X$. Then

$$\begin{aligned} \text{(a)} & \widetilde{0} \subset \mathcal{A} \subset \widetilde{1}. \\ \text{(b)} & A \cup B = B \cup A \text{, } A \cap B = B \cap A. \\ \text{(c)} & A \cup (B \cup C) = (A \cup B) \cup C \text{, } A \cap (B \cap C) = (A \cap B) \cap C. \\ \text{(d)} & A, B \subset A \cup B \text{, } A \cap B \subset A, B. \\ \text{(e)} & A \cap (\bigcup_{\alpha \in \Gamma} A_{\alpha}) = \bigcup_{\alpha \in \Gamma} (A \cap A_{\alpha}). \\ \text{(f)} & A \cup (\bigcap_{\alpha \in \Gamma} A_{\alpha}) = \bigcap_{\alpha \in \Gamma} (A \cup A_{\alpha}). \\ \text{(g)} & (\widetilde{0})^{c} = \widetilde{1} \text{, } (\widetilde{1})^{c} = \widetilde{0}. \\ \text{(h)} & (A^{c})^{c} = A. \\ \text{(i)} & (\bigcup_{\alpha \in \Gamma} A_{\alpha})^{c} = \bigcap_{\alpha \in \Gamma} A^{c}_{\alpha} \text{, } (\bigcap_{\alpha \in \Gamma} A_{\alpha})^{c} = \bigcup_{\alpha \in \Gamma} A^{c}_{\alpha}. \end{aligned}$$

Definition 2.3 [10]. Let $f: X \to Y$ be a mapping, let $A \in D(I)^X$ and let $B \in D(I)^Y$. Then

(i) the *image of* A under f, denoted by f(A), is an IVFS in Y defined as follows: For each $y \in Y$,

$$f(A)^{L}(y) = \begin{cases} \bigvee_{y=f(x)} A^{L}(x) & \text{if } f^{-1}(y) \neq \emptyset, \\ 0 & \text{otherwise} \end{cases}$$

and

$$f(A)^{U}(y) = \begin{cases} \bigvee_{y=f(x)} A^{U}(x) & \text{if } f^{-1}(y) \neq \emptyset, \\ 0 & \text{otherwise.} \end{cases}$$

(ii) the preimage of B under f, denoted by $f^{-1}(B)$, is an IVFS in Y defined as follows: For each $y \in Y$,

$$f^{-1}(B)^{L}(y) = (B^{L} \circ f)(x) = B^{L}(f(x))$$

and

$$f^{-1}(B)^U(y) = (B^U \circ f)(x) = B^U(f(x)).$$

It can be easily seen that $f(A) = [f(A^L), f(A^U)]$ and $f^{-1}(B) = [f^{-1}(B^L), f^{-1}(B^U)]$.

Result 2.B [10, Theorem 2]. Let $f : X \to Y$ be a mapping and $g : Y \to Z$ be a mapping. Then

(a) $f^{-1}(B^c) = [f^{-1}(B)]^c$, $\forall B \in D(I)^Y$. (b) $[f(A)]^c \subset f(A^c)$, $\forall A \in D(I)^Y$. (c) $B_1 \subset B_2 \Rightarrow f^{-1}(B_1) \subset f^{-1}(B_2)$, where $B_1, B_2 \in D(I)^Y$. (d) $A_1 \subset A_2 \Rightarrow f(A_1) \subset f(A_2)$, where $A_1, A_2 \in D(I)^X$. (e) $f(f^{-1}(B)) \subset B$, $\forall B \in D(I)^Y$. (f) $A \subset f(f^{-1}(A))$, $\forall A \in D(I)^Y$. (g) $(g \circ f)^{-1}(C) = f^{-1}(g^{-1}(C))$, $\forall C \in D(I)^Z$. (h) $f^{-1}(\bigcup_{\alpha \in \Gamma} B_\alpha) = \bigcup_{\alpha \in \Gamma} f^{-1}B_\alpha$, where $\{B_\alpha\}_{\alpha \in \Gamma} \in D(I)^Y$. (h) $f^{-1}(\bigcap_{\alpha \in \Gamma} B_\alpha) = \bigcap_{\alpha \in \Gamma} f^{-1}B_\alpha$, where $\{B_\alpha\}_{\alpha \in \Gamma} \in D(I)^Y$.

Definition 2.4 [2]. Let S be a semigroup and let $A \in D(I)^S$. Then A is called an *interval-valued fuzzy subsemigroup*(in short, *IVSG*) in S, if it satisfies the conditions : $A^L(xy) \ge A^L(x) \land A^L(y)$ and $A^U(xy) \ge A^U(x) \land A^U(y)$, $\forall x, y \in S$.

We will denote the set of all IVSGs in S as IVSG(S).

3. Ω-interval-valued fuzzy subsemigroups

In what follows let S and Ω denote a semigroup and a nonempty set, respectively, unless otherwise specified.

Definition 3.1. A mapping $A_{\Omega} : S \times \Omega \to D(I)$ is called an Ω -intervalvalued fuzzy set(in short, $\Omega - IVFS$) in S, denoted by $A_{\Omega} = [A_{\Omega}^{L}, A_{\Omega}^{U}]$, where $A_{\Omega}^{L}, A_{\Omega}^{U} \in I^{S \times \Omega}$ are called the *degree of lower membership* and *degree of upper membership* of the element $(x, \alpha) \in A_{\Omega} \subset S \times \Omega$, respectively.

We will denote the set of all Ω -IVFSs in S as $D(I)^{S \times \Omega}$.

Definition 3.2. Let $A_{\Omega} \in D(I)^{S \times \Omega}$. Then A_{Ω} is called an Ω -intervalvalued fuzzy subsemigroup (in short, $\Omega - IVSG$) of S, if it satisfies the followings : For each $\alpha \in \Omega$ and each $x, y \in S$,

 $\begin{array}{l} \text{(i)} \ A_{\Omega}^{L}(xy,\alpha) \geq A_{\Omega}^{L}(x,\alpha) \wedge A_{\Omega}^{L}(y,\alpha),\\ \text{(ii)} \ A_{\Omega}^{U}(xy,\alpha) \geq A_{\Omega}^{U}(x,\alpha) \wedge A_{\Omega}^{U}(y,\alpha). \end{array}$

We will denote the set of all Ω -IVSGs of S as Ω -IVSG(S).

Example 3.3. Consider $S = \{a, b\}$ with the following Cayley table:

Let $\Omega = \{1,2\}$ and let A_{Ω} be an Ω -IVFS in S defined as follows: $A_{\Omega}(a,1) = A_{\Omega}(a,2) = [1,1], A_{\Omega}(b,1) = [0.1,0.8] \text{ and } A_{\Omega}(b,2) = [0.3,0.5].$ Then it is easy to see that $A_{\Omega} \in \Omega$ -IVSG(S).

Let $S^{\Omega} = \{u | u : \Omega \to S\}$. For any $u, v \in S^{\Omega}$, we define $(uv)(\alpha) = u(\alpha)v(\alpha)$ for each $\alpha \in \Omega$. Then S^{Ω} is a semigroup (see[5]).

Example 3.4. Let $A \in IVSG(S)$ and let A_{Ω} be an Ω -IVFS in S^{Ω} defined as follows : $A_{\Omega}^{L}(u, \alpha) = A^{L}(u(\alpha))$ and $A_{\Omega}^{U}(u, \alpha) = A^{U}(u(\alpha))$ for each $u \in S^{\Omega}$ and $\alpha \in \Omega$. Then $A \in \Omega - IVSG(S^{\Omega})$.

Proposition 3.5. Let $A_{\Omega} \in \Omega - IVSG(S)$. For each $\omega \in \Omega$, let A_{Ω}^{ω} be the IVFS in S defined as follows : For each $x \in S$,

$$(A_{\Omega}^{\omega})^{L}(x) = A_{\Omega}^{L}(x,\omega) \text{ and } (A_{\Omega}^{\omega})^{U}(x) = A_{\Omega}^{U}(x,\omega).$$

Then A_{Ω}^{ω} is an IVSG of S.

Proof. Let $x, y \in S$. Then

$$\begin{split} (A_{\Omega}^{\omega})^{L}(xy) &= A_{\Omega}^{L}(xy,\omega) \\ &\geq A_{\Omega}^{L}(x,\omega) \wedge A_{\Omega}^{L}(y,\omega) \\ &= (A_{\Omega}^{\omega})^{L}(x) \wedge (A_{\Omega}^{\omega})^{L}(y), \end{split}$$

and

$$\begin{aligned} (A_{\Omega}^{\omega})^{U}(xy) &= A_{\Omega}^{U}(xy,\omega) \\ &\geq A_{\Omega}^{U}(x,\omega) \wedge A_{\Omega}^{U}(y,\omega) \\ &= (A_{\Omega}^{\omega})^{U}(x) \wedge (A_{\Omega}^{\omega})^{U}(y). \end{aligned}$$

This completes the proof.

Proposition 3.6. For each $\omega \in \Omega$, let $A_{\Omega}^{\omega} \in IVSG(S)$. Let A_{Ω} be the Ω -IVFS in S defined as follows : For each $x \in S$,

$$A_{\Omega}^{L}(x,\omega) = (A_{\Omega}^{\omega})^{L}(x) \text{ and } A_{\Omega}^{U}(x,\omega) = (A_{\Omega}^{\omega})^{U}(x)$$

Then A_{Ω} is an Ω -IVSG of S.

Jeong Gon Lee, Kul Hur and Pyung Ki Lim

Proof. Let $x, y \in S$. Then

$$\begin{split} A_{\Omega}^{L}(xy,\omega) &= (A_{\Omega}^{\omega})^{L}(xy) \\ &\geq (A_{\Omega}^{\omega})^{L}(x) \wedge (A_{\Omega}^{\omega})^{L}(y) \\ &= A_{\Omega}^{L}(x,\omega) \wedge A_{\Omega}^{L}(y,\omega), \end{split}$$

and

$$egin{aligned} A^U_\Omega(xy,\omega) &= (A^\omega_\Omega)^U(xy) \ &\geq (A^\omega_\Omega)^U(x) \wedge (A^\omega_\Omega)^U(y) \ &= A^U_\Omega(x,\omega) \wedge A^U_\Omega(y,\omega). \end{aligned}$$

Hence A_{Ω} is an Ω -IVSG of S.

Proposition 3.7. Let $\Phi \in IVSG(S^{\Omega})$ and let A_{Φ} be the Ω -IVFS in S^{Ω} defined as follows: For each $x \in S$ and $\alpha \in \Omega$,

$$A_{\Phi}^{L}(x,\alpha) = \bigvee_{\substack{u \in S^{\Omega} \\ u(\alpha) = x}} \Phi^{L}(u),$$

and

$$A^U_{\Phi}(x,\alpha) = \bigvee_{\substack{u \in S^{\Omega} \\ u(\alpha) = x}} \Phi^U(u).$$

Then A_{Φ} is an Ω -IVSG of S.

Proof. Let $x, y \in S$ and let $\alpha \in \Omega$. Then

$$\begin{split} A_{\Phi}^{L}(xy,\alpha) &= \bigvee_{\substack{u \in S^{\Omega} \\ u(\alpha) = xy}} \Phi^{L}(u) \\ &\geq \bigvee_{\substack{u,v \in S^{\Omega} \\ u(\alpha) = x, v(\alpha) = y}} [\Phi^{L}(u) \wedge \Phi^{L}(v)] \\ &\geq (\bigvee_{\substack{u \in S^{\Omega} \\ u(\alpha) = x}} \Phi^{L}(u)) \wedge (\bigvee_{\substack{v \in S_{\Omega} \\ v(\alpha) = y}} \Phi^{L}(v)) \\ &\geq A_{\Phi}^{L}(x,\alpha) \wedge A_{\Phi}^{L}(y,\alpha). \end{split}$$

Similarly, we have that

$$A^U_{\Phi}(xy,\alpha) \ge A^U_{\Phi}(x,\alpha) \wedge A^U_{\Phi}(y,\alpha).$$

Hence A_{Φ} is an Ω -IVSG of S.

Example 3.8. Let $S = \{a, b\}$ be a semigroup in Example 3.3 and let $\Omega = \{1, 2\}$. Then $S^{\Omega} = \{e, u, v, w\}$, where e(1) = e(2) = v(1) = w(2) = a and u(1) = v(2) = w(1) = b, is a semigroup (in fact, a commutative group) under the following Cayley table :

		u		w
e	e	$egin{array}{c} u \\ e \\ w \end{array}$	v	w
$egin{array}{c} u \ v \end{array}$	u	e	w	v
v	v	w	e	u
w	w	v	u	e

Let Φ be an IVFS in S^{Ω} defined as follows:

$$\Phi(e) = [0.1, 0.9], \Phi(u) = \Phi(v) = [0.2, 0.7], \Phi(w) = [0.3, 0.8].$$

Then Φ is an IVSG of S^{Ω} . Thus we can obtain an Ω -IVSG A_{Φ} of S as follows:

$$\begin{split} A_{\Phi}^{L}(a,1) &= \bigvee_{\substack{t \in S^{\Omega} \\ t(1)=a}} \Phi^{L}(t) = \Phi^{L}(e) \lor \Phi^{L}(v) = 0.2, \\ A_{\Phi}^{U}(a,1) &= \bigvee_{\substack{t \in S^{\Omega} \\ t(1)=a}} \Phi^{U}(t) = \Phi^{U}(e) \lor \Phi^{U}(v) = 0.9, \\ A_{\Phi}^{L}(a,2) &= \bigvee_{\substack{t \in S^{\Omega} \\ t(2)=a}} \Phi^{L}(t) = \Phi^{L}(e) \lor \Phi^{L}(w) = 0.3, \\ A_{\Phi}^{U}(a,2) &= \bigvee_{\substack{t \in S^{\Omega} \\ t(2)=a}} \Phi^{U}(t) = \Phi^{U}(e) \lor \Phi^{U}(w) = 0.9, \\ A_{\Phi}^{L}(b,1) &= \bigvee_{\substack{t \in S^{\Omega} \\ t(1)=b}} \Phi^{L}(t) = \Phi^{L}(u) \lor \Phi^{L}(w) = 0.3, \\ A_{\Phi}^{U}(b,1) &= \bigvee_{\substack{t \in S^{\Omega} \\ t(1)=b}} \Phi^{U}(t) = \Phi^{U}(u) \lor \Phi^{U}(w) = 0.8, \\ A_{\Phi}^{L}(b,2) &= \bigvee_{\substack{t \in S^{\Omega} \\ t(2)=b}} \Phi^{U}(t) = \Phi^{U}(u) \lor \Phi^{L}(v) = 0.2, \\ A_{\Phi}^{U}(b,2) &= \bigvee_{\substack{t \in S^{\Omega} \\ t(2)=b}} \Phi^{U}(t) = \Phi^{U}(u) \lor \Phi^{U}(v) = 0.7. \end{split}$$

Proposition 3.9. Let A_{Ω} be an Ω -IVSG of S and let Φ be an IVFS of S^{Ω} defined as follows: For each $u \in S^{\Omega}$,

$$\Phi(u) = [\bigwedge_{\alpha \in \Omega} A_{\Omega}^{L}(u(\alpha), \alpha), \bigwedge_{\alpha \in \Omega} A_{\Omega}^{U}(u(\alpha), \alpha)].$$

Then Φ is an IVSG of S^{Ω} .

Proof. Let $u, v \in S^{\Omega}$. Then

$$\begin{split} \Phi^{L}(uv) &= \bigwedge_{\alpha \in \Omega} A^{L}_{\Omega}(uv(\alpha), \alpha) \\ &= \bigwedge_{\alpha \in \Omega} A^{L}_{\Omega}(u(\alpha)v(\alpha), \alpha) \\ &\geq \bigwedge_{\alpha \in \Omega} [A^{L}_{\Omega}(u(\alpha), \alpha) \wedge A^{L}_{\Omega}(v(\alpha), \alpha)] \\ &= (\bigwedge_{\alpha \in \Omega} A^{L}_{\Omega}(u(\alpha), \alpha)) \wedge (\bigwedge_{\alpha \in \Omega} A^{L}_{\Omega}(v(\alpha), \alpha)) \\ &= \Phi^{L}(u) \wedge \Phi^{L}(v). \end{split}$$

By the similar arguments, we have that

$$\Phi^U(uv) \ge \Phi^U(u) \land \Phi^U(v).$$

Hence Φ is an IVSG of S^{Ω} .

Example 3.10. Let A_{Ω} be the Ω -IVSG of S in Example 3.3 and let S^{Ω} be the commutative group in Example 3.8. Then we can obtain an IVSG Φ of Ω as follows:

$$\begin{split} \Phi^{L}(e) &= \bigwedge_{\alpha \in \Omega} A^{L}_{\Omega}(e(\alpha), \alpha) = A^{L}_{\Omega}(e(1), 1) \wedge A^{L}_{\Omega}(e(2), 2) \\ &= A^{L}_{\Omega}(a, 1) \wedge A^{L}_{\Omega}(a, 2) = 1, \\ \Phi^{U}(e) &= \bigwedge_{\alpha \in \Omega} A^{U}_{\Omega}(e(\alpha), \alpha) = A^{U}_{\Omega}(e(1), 1) \wedge A^{U}_{\Omega}(e(2), 2) \\ &= A^{U}_{\Omega}(a, 1) \wedge A^{U}_{\Omega}(a, 2) = 1, \\ \Phi^{L}(u) &= \bigwedge_{\alpha \in \Omega} A^{L}_{\Omega}(u(\alpha), \alpha) = A^{L}_{\Omega}(u(1), 1) \wedge A^{L}_{\Omega}(u(2), 2) \\ &= A^{L}_{\Omega}(b, 1) \wedge A^{L}_{\Omega}(b, 2) = 0.1, \end{split}$$

36

 $\Omega\text{-interval-valued}$ fuzzy subsemigroups in a semigroup

$$\Phi^{U}(u) = \bigwedge_{\alpha \in \Omega} A^{U}_{\Omega}(u(\alpha), \alpha) = A^{U}_{\Omega}(u(1), 1) \wedge A^{U}_{\Omega}(u(2), 2)$$
$$= A^{U}_{\Omega}(b, 1) \wedge A^{U}_{\Omega}(b, 2) = 0.5,$$

$$\Phi^L(v) = \bigwedge_{\alpha \in \Omega} A^L_{\Omega}(v(\alpha), \alpha) = A^L_{\Omega}(v(1), 1) \wedge A^L_{\Omega}(v(2), 2)$$
$$= A^L_{\Omega}(a, 1) \wedge A^L_{\Omega}(b, 2) = 0.3,$$

$$\Phi^U(v) = \bigwedge_{\alpha \in \Omega} A^U_{\Omega}(v(\alpha), \alpha) = A^U_{\Omega}(v(1), 1) \wedge A^U_{\Omega}(v(2), 2)$$
$$= A^U_{\Omega}(a, 1) \wedge A^U_{\Omega}(b, 2) = 0.5,$$

$$\begin{split} \Phi^L(w) &= \bigwedge_{\alpha \in \Omega} A^L_{\Omega}(w(\alpha), \alpha) = A^L_{\Omega}(w(1), 1) \wedge A^L_{\Omega}(w(2), 2) \\ &= A^L_{\Omega}(b, 1) \wedge A^L_{\Omega}(a, 2) = 0.1, \end{split}$$

$$\Phi^U(w) = \bigwedge_{\alpha \in \Omega} A^U_{\Omega}(w(\alpha), \alpha) = A^U_{\Omega}(w(1), 1) \wedge A^U_{\Omega}(w(2), 2)$$
$$= A^U_{\Omega}(b, 1) \wedge A^U_{\Omega}(a, 2) = 0.8.$$

4. Properties under a homomorphism

Definition 4.1. Let $\varphi: S \to T$ be a mapping, let $A_{\Omega} \in D(I)^{S \times \Omega}$ and let $B_{\Omega} \in D(I)^{T \times \Omega}$. Then

(i) the preimage of B_{Ω} , denoted $\varphi^{-1}(B_{\Omega})$, is an Ω -IVFS in S defined as follows: For each $(x, \alpha) \in S \times \Omega$,

$$[\varphi^{-1}(B_{\Omega})](x,\alpha) = [\varphi^{-1}(B_{\Omega}^{L})(x,\alpha), \varphi^{-1}(B_{\Omega}^{U})(x,\alpha)],$$

where $\varphi^{-1}(B_{\Omega}^{L})(x,\alpha) = B_{\Omega}^{L}(\varphi(x),\alpha)$ and $\varphi^{-1}(B_{\Omega}^{U})(x,\alpha) = B_{\Omega}^{U}(\varphi(x),\alpha).$

(ii) the *image* of A_{Ω} , denoted by $\varphi(A_{\Omega})$, is an Ω -IVFS in T defined as follows: For each $(y, \alpha) \in T \times \Omega$,

$$[\phi(A_{\Omega})](y,\alpha) = [\varphi(A_{\Omega}^{L})(y,\alpha), \varphi(A_{\Omega}^{U})(y,\alpha)],$$

where

$$\varphi(A_{\Omega}^{L})(y,\alpha) = \begin{cases} \bigvee_{y=\varphi(x)} A_{\Omega}^{L}(x,\alpha) & \text{if } \varphi^{-1}(y) \neq \emptyset, \\ 0 & \text{otherwise,} \end{cases}$$

and

$$\varphi(A_{\Omega}^{U})(y,\alpha) = \begin{cases} \bigvee_{y=\varphi(x)} A_{\Omega}^{U}(x,\alpha) & \text{if } \varphi^{-1}(y) \neq \emptyset, \\ 0 & \text{otherwise.} \end{cases}$$

Proposition 4.2. Let $\varphi : S \to T$ be a homomorphism of semigroups. If B_{Ω} is an Ω -IVSG of T, the preimage $\varphi^{-1}(B_{\Omega})$ is an Ω -IVSG of S.

Proof. Let
$$x, y \in S$$
 and let $\alpha \in \Omega$. Then

$$\varphi^{-1}(B^L_{\Omega})(xy,\alpha) = B^L_{\Omega}(\varphi(xy),\alpha) = B^L_{\Omega}(\varphi(x)\varphi(y),\alpha)$$
$$\geq B^L_{\Omega}(\varphi(x),\alpha) \wedge B^L_{\Omega}(\varphi(y),\alpha)$$
$$= \varphi^{-1}(B^L_{\Omega})(x,\alpha) \wedge \varphi^{-1}(B^L_{\Omega})(y,\alpha).$$

Similarly, we have that

$$\varphi^{-1}(B^U_{\Omega})(xy,\alpha) \ge \varphi^{-1}(B^U_{\Omega})(x,\alpha) \wedge \varphi^{-1}(B^U_{\Omega})(y,\alpha).$$

Hence $\varphi^{-1}(B_{\Omega})$ is an Ω -IVSG of S.

Proposition 4.3. Let $\varphi : S \to T$ be a homomorphism of semigroups. If A_{Ω} is an Ω -IVSG of S, the image $\varphi(A_{\Omega})$ is an Ω -IVSG of T.

Proof. We show that

$$\varphi^{-1}(y_1)\varphi^{-1}y_2 \subset \varphi^{-1}(y_1y_2) \qquad (*)$$

for any $y_1, y_2 \in T$.

Let $x \in \varphi^{-1}(y_1)\varphi^{-1}y_2$. Then $x = x_1x_2$ for some $x_1 \in \varphi^{-1}(y_1)$ and $x_2 \in \varphi^{-1}y_2$. Since φ is a homomorphism, $\varphi(x) = \varphi(x_1x_2) = \varphi(x_1)\varphi(x_2) = y_1y_2$. Thus $x \in \varphi^{-1}(y_1y_2)$. So (*) holds.

Now let $y_1, y_2 \in T$ and $\alpha \in \Omega$. Assume that $y_1y_2 \notin Im(\varphi)$. Then $\varphi(A_{\Omega})(y_1y_2, \alpha) = [0, 0]$. On the other hand, since $y_1y_2 \notin Im(\varphi), \varphi^{-1}(y_1y_2) = \emptyset$. Then, by $(*), \varphi^{-1}(y_1) = \emptyset$ or $\varphi^{-1}(y_2) = \emptyset$. Thus $\varphi(A_{\Omega})(y_1, \alpha) = [0, 0]$ or $\varphi(A_{\Omega})(y_2, \alpha) = [0, 0]$. So it follows that

$$\varphi(A_{\Omega}^{L})(y_{1}y_{2},\alpha) = 0 = \varphi(A_{\Omega}^{L})(y_{1},\alpha) \wedge \varphi(A_{\Omega}^{L})(y_{2},\alpha),$$

$$\varphi(A_{\Omega}^{U})(y_{1}y_{2},\alpha) = 0 = \varphi(A_{\Omega}^{U})(y_{1},\alpha) \wedge \varphi(A_{\Omega}^{U})(y_{2},\alpha).$$

Suppose $\varphi^{-1}(y_1y_2) \neq \emptyset$. Then we can consider two cases as follows: (i) $\varphi^{-1}(y_1) = \emptyset$ or $\varphi^{-1}(y_2) = \emptyset$,

(ii) $\varphi^{-1}(y_1) \neq \emptyset$ and $\varphi^{-1}(y_2) \neq \emptyset$.

Case(i). We have $\varphi(A_{\Omega})(y_1, \alpha) = [0, 0]$ or $\varphi(A_{\Omega})(y_2, \alpha) = [0, 0]$. Thus

$$\varphi(A_{\Omega}^{L})(y_{1}y_{2},\alpha) \geq \varphi(A_{\Omega}^{L})(y_{1},\alpha) \wedge \varphi(A_{\Omega}^{L})(y_{2},\alpha) = 0,$$

$$\varphi(A_{\Omega}^{U})(y_{1}y_{2},\alpha) \geq \varphi(A_{\Omega}^{U})(y_{1},\alpha) \wedge \varphi(A_{\Omega}^{U})(y_{2},\alpha) = 0.$$

38

Case(ii). From (*), we have that

$$\begin{split} \varphi(A_{\Omega}^{L})(y_{1}y_{2},\alpha) &= \bigvee_{x \in \varphi^{-1}(y_{1}y_{2})} A_{\Omega}^{L}(x,\alpha) \\ &\geq \bigvee_{x \in \varphi^{-1}(y_{1})\varphi^{-1}(y_{2})} A_{\Omega}^{L}(x,\alpha) \\ &= \bigvee_{x_{1} \in \varphi^{-1}(y_{1})} A_{\Omega}^{L}(x_{1}x_{2},\alpha) \\ &\geq \bigvee_{x_{1} \in \varphi^{-1}(y_{2})} [A_{\Omega}^{L}(x_{1},\alpha) \wedge A_{\Omega}^{L}(x_{2},\alpha)] \\ &\geq (\bigvee_{x_{1} \in \varphi^{-1}(y_{2})} [A_{\Omega}^{L}(x_{1},\alpha)) \wedge (\bigvee_{x_{2} \in \varphi^{-1}(y_{2})} A_{\Omega}^{L}(x_{2},\alpha))] \\ &= ((\bigvee_{x_{1} \in \varphi^{-1}(y_{1})} A_{\Omega}^{L}(x_{1},\alpha)) \wedge (\bigvee_{x_{2} \in \varphi^{-1}(y_{2})} A_{\Omega}^{L}(x_{2},\alpha)) \\ &= \phi(A_{\Omega}^{L})(y_{1},\alpha) \wedge \phi(A_{\Omega}^{L})(y_{2},\alpha). \end{split}$$

By the Similar arguments, we have that

$$\varphi(A_{\Omega}^{U})(y_{1}y_{2},\alpha) \geq \phi(A_{\Omega}^{U})(y_{1},\alpha) \wedge \phi(A_{\Omega}^{U})(y_{2},\alpha).$$

This completes the proof.

Acknowledgments

This paper was supported by Wonkwang University in 2013.

References

- R. Biswas, Rosenfeld's fuzzy subgroups with interval-valued membership functions, Fuzzy set and systems 63(1995) 87-90.
- M. Cheong and K. Hur, Interval-valued fuzzy ideals and bi-ideals of a semigroup, IJFIS 11(2011), 259-266.
- [3] J. Y. Choi, S. R. Kim and , Interval-valued smooth topological spaces, Honam Math.J.32(4)(2010), 711-738.
- [4] M.B.Gorzalczany, A method of inference in approximate reasoning based on interval-values fuzzy, sets, Fuzzy sets and Systems 21(1987) 1-17.
- [5] K.Hur, Y.B.Jun and H.S.Kim, On Ω-bifuzzy subsemigroups in semigroups, Honam Math. J. 27(1) (2005), 31-41.
- [6] K.Hur, J. G. Lee and J. Y. Choi, Interval-valued fuzzy relations, JKIIS 19(3)(2009), 425-432.
- [7] H. Kang, Interval-valued fuzzy subgroups and homomorphisms, Honam Math.J.33(4)(2011), 499-518.

39

Jeong Gon Lee, Kul Hur and Pyung Ki Lim

- [8] H. Kang and K.Hur, Interval-valued fuzzy subgroups and rings, Honam Math.J.32(4)(2010), 593-617.
- [9] K. C. Lee, H. Kang and K.Hur, Interval-valued fuzzy generalized bi-ideals of a semigroup, Honam Math.J.33(4)(2011), 603-611.
- [10] T.K.mondal and S.K.Samanta, Topology of interval-valued fuzzy sets, Indian J. Pure Appl. Math. 30(1)(1999), 20-38.
- [11] L.A.Zadeh, Fuzzy sets, Inform and Control 8(1965), 338-353.
- [12] _____, The concept of a linguistic variable and its application to approximate reasoning-I, Inform. Sci 8(1975), 199-249.

Jeong Gon Lee

Division of Mathematics and Informational Statistics, and Nanoscale Science and Technology Institute, Wonkwang University,

Iksancity Jeonbuk 570-749, Korea. *E-mail*: jukolee@wku.ac.kr

Kul Hur

Division of Mathematics and Informational Statistics, and Nanoscale Science and Technology Institute, Wonkwang University,

Iksancity Jeonbuk 570-749, Korea.

E-mail: kulhur@wku.ac.kr

Pyung Ki Lim

Division of Mathematics and Informational Statistics, and Nanoscale Science and Technology Institute, Wonkwang University,

Iksancity Jeonbuk 570-749, Korea.

E-mail: pklim@wku.ac.kr